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2023
ECONOMICS
( Honours Generic/Regular Course )
Paper : ECO-HG/RC-4016

( Principles of Macroeconomics—II )

- Full Marks : 80

Time : 3 hours

The figures in the margin indicate full marks
Jor the questions

Answer either in English or in Assamese

1. Answer the following questions : - 1x10=10
©F TR e ford

(a) Define LM curve.
LM @R[ A< fa31 |

(b) What is the condition for equilibrium in
the money market?

41 ISR SRR 56 2
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(2)

(c) Define aggregate demand.
S st Sige foan o

(d) What is liquidity preference?
ORe oo {2

(e) Give the meaning of cost-push inflation.

M-S urdfess i for |

() Why does deflation occur?
RIS fw T =W 2

(g9 What is the meaning of foreign
exchange?

I fRfATy i 32

(h) Define hyperinflation.
TS Jurifes sigen faq |

(i) Who gave the concept of Phillips curve?
Refelof AR RO (A HRGREA 2

() What is rate of exchange?
R R IE 2
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(3)

2. Answer the following questions : 2x5=10
God TR T fer

(a) Explain aggregate supply function.

AT @ Tow <, I 900

(b) Show the differences between demand-
pull and cost-push inflation.

iEm-IaERe W W-IrEe  qurdiiet
TS NAFPTIR TS |

(c) How does effective demand determine
employment?

iy vif3niz TOIEE v RfRT 3@ 2

(d) What are the differences between
Current Account and Capital Account?

sfers f3pr W ¢ RorrR T PR
o

(e) What are the instruments of foreign
exchange?

R R sfZerz &2
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(4)

3. Answer any four of the following questions :
Sx4=20
T YRR R @I wifeR e foran

(a) Give the reasons for shift in the
aggregate demand curve.

AT R QA FEARRYS @RA FRTEER
foram |

(b)) What are the weaknesses of IS-LM
model?

IS-LM S1f3oR qerorz & 2

(c) Discuss the determinants of inflation.

TPt {2 SICEm- 34410 |

(d) Discuss the working of multiplier in
brief.
B AP SLF SACATA T |

(e) What are the characteristics of foreign
exchange market? Discuss.

e R e @FErmpr & [
SICATSAT T |
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(S)

What does the short-run Phillips curve
show?

27 Rfeep @ik B s ?

4. Answer the following questions : 10x4=40

e IR Baq fory -

(a)

(b)

A23/888

What is effective demand? Explain the
importance of effective demand and its
determinants. 2+8=10

A vfzm (2 Sm o gvg wIF TR
IGRIEEPERRIE I

Or / |41

Distinguish between aggregate demand
and aggregate supply. Discuss the
components of aggregate supply. 4+6=10

A o F AEES @R TS N1
foran | STARF Q@I BoAMITIE, ST 341 |

What are the features of IS curve?
Explain the derivation of IS curve. 4+6=10

IS QIR IFBEAR & 2 IS @I ==Z’q
offeraT AT I
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(6)

Or / 9371

Explain the IS-LM model with the help
of diagram. 10

IS-LM S1f3g51 fodq g 1< 947 |

(c) Discuss the various effects of inflation. 10

TEriifed R SeRER Ao %4 |

Or / 331

Write a note on the long-run Phillips
curve. 10

A fRferep ¥R R 951 Gt e o

(d) How does IS-LM curve explain the
relation between rate of interest and
income level? Discuss. 10

IS-LM QYR ¥ 421 357 TR S WRR 5o
ST T PR ? WA I |
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(7))

Or / 911

What is Balance of Payments? What are
its components? Distinguish between
Current Account and Capital Account of
Balance of Payments. 2+4+4=10

e el 2 TR SR R
@R TAOR SRre ot W [AdA RoreR
o2& fora |

* K &
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